# Subclass of meromorphic functions with positive coefficients defined by convolution 

M.K. Aouf, R.M. EL-Ashwah and H.M. Zayed


#### Abstract

In this paper we introduce and study new class of meromorphic functions defined by convolution. We obtain coefficients inequalities, distortion theorems, extreme points, closure theorems and some other results for the modified Hadamard products. Finally, we obtain application involving an integral operator.


Mathematics Subject Classification (2010): 30C80, 30C45.
Keywords: Meromorphic, starlike and convex functions, Hadamard product.

## 1. Introduction

Let $\Sigma$ denote the class of meromorphic functions of the form:

$$
\begin{equation*}
f(z)=\frac{1}{z}+\sum_{k=1}^{\infty} a_{k} z^{k} \tag{1.1}
\end{equation*}
$$

which are analytic in the punctured unit disc $U^{*}=\{z: z \in \mathbb{C}$ and $0<|z|<1\}=$ $U \backslash\{0\}$. Let $g \in \Sigma$, be given by

$$
\begin{equation*}
g(z)=\frac{1}{z}+\sum_{k=1}^{\infty} b_{k} z^{k} \tag{1.2}
\end{equation*}
$$

then the Hadamard product (or convolution) of $f$ and $g$ is given by

$$
\begin{equation*}
(f * g)(z)=\frac{1}{z}+\sum_{k=1}^{\infty} a_{k} b_{k} z^{k}=(g * f)(z) \tag{1.3}
\end{equation*}
$$

A function $f \in \Sigma$ is meromorphic starlike of order $\beta(0 \leq \beta<1)$ if

$$
\begin{equation*}
-\operatorname{Re}\left\{\frac{z f^{\prime}(z)}{f(z)}\right\}>\beta(z \in U) \tag{1.4}
\end{equation*}
$$

and the class of all such functions is denoted by $\Sigma^{*}(\beta)$. A function $f \in \Sigma$ is meromorphic convex of order $\beta(0 \leq \beta<1)$ if

$$
\begin{equation*}
-\operatorname{Re}\left\{1+\frac{z f^{\prime \prime}(z)}{f^{\prime}(z)}\right\}>\beta(z \in U) \tag{1.5}
\end{equation*}
$$

and the class of such functions is denoted by $\Sigma_{k}^{*}(\beta)$. The classes $\Sigma^{*}(\beta)$ and $\Sigma_{k}^{*}(\beta)$ are introduced and studied by Pommerenke [11], Miller [9], Mogra et al. [10], Cho [4], Cho et al. [5] and Aouf ([1] and [2]).

For $\alpha \geq 0,0 \leq \beta<1,0 \leq \lambda<\frac{1}{2}$ and $g$ is given by (1.2), with $b_{k} \geq 0(k \geq 1)$, we denote by $M(f, g ; \alpha, \beta, \lambda)$ the subclass of $\Sigma$ consisting of functions of the form (1.1) and satisfying the analytic criterion:

$$
\begin{align*}
& -\operatorname{Re}\left\{\frac{z(f * g)^{\prime}(z)+\lambda z^{2}(f * g)^{\prime \prime}(z)}{(1-\lambda)(f * g)(z)+\lambda z(f * g)^{\prime}(z)}+\beta\right\} \\
\geq & \alpha\left|\frac{z(f * g)^{\prime}(z)+\lambda z^{2}(f * g)^{\prime \prime}(z)}{(1-\lambda)(f * g)(z)+\lambda z(f * g)^{\prime}(z)}+1\right|(z \in U) . \tag{1.6}
\end{align*}
$$

We note that for suitable choices of $g, \alpha$ and $\lambda$, we obtain the following subclasses:

$$
M\left(f, \frac{1}{z(1-z)} ; 0, \beta ; 0\right)=\Sigma^{*}(\beta)(0 \leq \beta<1)
$$

and

$$
M\left(f, \frac{1}{z(1-z)} ; 0, \beta ; 1\right)=\Sigma_{k}^{*}(\beta)(0 \leq \beta<1)
$$

(see Pommerenke [11]).
Also, we note that
(1) $M(f, g ; \alpha, \beta, 0)=N(f, g ; \alpha, \beta)$

$$
=\left\{f \in \Sigma:-\operatorname{Re}\left(\frac{z(f * g)^{\prime}(z)}{(f * g)(z)}+\beta\right) \geq \alpha\left|\frac{z(f * g)^{\prime}(z)}{(f * g)(z)}+1\right|\left(z \in U^{*}\right)\right\}
$$

(2) Putting $g(z)=\frac{1}{z}+\sum_{k=1}^{\infty}\left(\frac{\ell+\delta k}{\ell}\right)^{m} z^{k}$ in (1.6), then the class

$$
M\left(f, \frac{1}{z}+\sum_{k=1}^{\infty}\left(\frac{\ell+\delta k}{\ell}\right)^{m} z^{k} ; \alpha, \beta, \lambda\right)
$$

reduces to the class

$$
\begin{gathered}
M_{\delta, \ell}(m ; \alpha, \beta, \lambda)=\left\{f \in \Sigma:-\operatorname{Re}\left\{\frac{z\left(I^{m}(\delta, \ell) f(z)\right)^{\prime}+\lambda z^{2}\left(I^{m}(\delta, \ell) f(z)\right)^{\prime \prime}}{(1-\lambda)\left(I^{m}(\delta, \ell) f(z)\right)+\lambda z\left(I^{m}(\delta, \ell) f(z)\right)^{\prime}}+\beta\right\} \geq \alpha\right. \\
\left.\left|\frac{z\left(I^{m}(\delta, \ell) f(z)\right)^{\prime}+\lambda z^{2}\left(I^{m}(\delta, \ell) f(z)\right)^{\prime \prime}}{(1-\lambda)\left(I^{m}(\delta, \ell) f(z)\right)+\lambda z\left(I^{m}(\delta, \ell) f(z)\right)^{\prime}}+1\right|\left(\delta \geq 0 ; \ell>0 ; m \in \mathbb{N}_{0} ; \quad z \in U\right)\right\},
\end{gathered}
$$

where the operator

$$
\begin{equation*}
I^{m}(\delta, \ell)(z)=\frac{1}{z}+\sum_{k=1}^{\infty}\left(\frac{\ell+\delta k}{\ell}\right)^{m} z^{k} \tag{1.7}
\end{equation*}
$$

was introduced and studied by El-Ashwah [6, with $p=1]$ (see also Bulboacă et al. [3], El-Ashwah [7, with $p=1$ ] and El-Ashwah et al. [8, with $p=1]$ ).

## 2. Coefficient estimates

Unless otherwise mentioned, we assume throughout this paper that $\alpha \geq 0,0 \leq \beta<1,0 \leq \lambda<\frac{1}{2}, g$ is given by (1.2) with $b_{k}>0$ and $b_{k} \geq b_{1}$
( $k \geq 1$ ).
Theorem 2.1. Let the function $f$ defined by (1.1). Then $f \in M(f, g ; \alpha, \beta, \lambda)$ if and only if

$$
\begin{equation*}
\sum_{k=1}^{\infty}[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)] a_{k} b_{k} \leq(1-\beta)(1-2 \lambda) \tag{2.1}
\end{equation*}
$$

Proof. Let the condition (2.1) holds true and using the fact that

$$
-\operatorname{Re}(w) \geq \alpha|w+1|+\beta \text { if and only if }-\operatorname{Re}\left\{\left(1+\alpha e^{i \theta}\right) w+\alpha e^{i \theta}\right\} \geq \beta
$$

we have

$$
\begin{aligned}
& -\operatorname{Re}\left\{\frac{z(f * g)^{\prime}(z)+\lambda z^{2}(f * g)^{\prime \prime}(z)}{(1-\lambda)(f * g)(z)+\lambda z(f * g)^{\prime}(z)}+\beta\right\} \\
& \geq \alpha\left|\frac{z(f * g)^{\prime}(z)+\lambda z^{2}(f * g)^{\prime \prime}(z)}{(1-\lambda)(f * g)(z)+\lambda z(f * g)^{\prime}(z)}+1\right|
\end{aligned}
$$

Hence

$$
-\operatorname{Re}\left\{\left(1+\alpha e^{i \theta}\right) \frac{z(f * g)^{\prime}(z)+\lambda z^{2}(f * g)^{\prime \prime}(z)}{(1-\lambda)(f * g)(z)+\lambda z(f * g)^{\prime}(z)}+\alpha e^{i \theta}\right\} \geq \beta
$$

or, equivalently,

$$
-\operatorname{Re}\left\{\frac{\left(1+\alpha e^{i \theta}\right)\left[z(f * g)^{\prime}(z)+\lambda z^{2}(f * g)^{\prime \prime}(z)\right]+\alpha e^{i \theta}\left[(1-\lambda)(f * g)(z)+\lambda z(f * g)^{\prime}(z)\right]}{(1-\lambda)(f * g)(z)+\lambda z(f * g)^{\prime}(z)}\right\} \geq \beta
$$

where $-\pi \leq \theta<\pi$. Suppose that

$$
\begin{gathered}
G(z)=-\left(1+\alpha e^{i \theta}\right)\left[z(f * g)^{\prime}(z)+\lambda z^{2}(f * g)^{\prime \prime}(z)\right] \\
-\alpha e^{i \theta}\left[(1-\lambda)(f * g)(z)+\lambda z(f * g)^{\prime}(z)\right] \\
H(z)=(1-\lambda)(f * g)(z)+\lambda z(f * g)^{\prime}(z),
\end{gathered}
$$

and using the fact that

$$
\operatorname{Re}(w) \geq \beta \text { if and only if }|w-(1+\beta)| \leq|w+(1-\beta)| \text { where } w=-(u+i v)
$$

we need to prove that

$$
|G(z)+(1-\beta) H(z)| \geq|G(z)-(1+\beta) H(z)| \text { for } 0 \leq \beta<1
$$

Then

$$
|G(z)+(1-\beta) H(z)|-|G(z)-(1+\beta) H(z)|
$$

$$
\begin{aligned}
= & \left\lvert\,(2-\beta)(1-2 \lambda) \frac{1}{z}-\sum_{k=1}^{\infty}[k-(1-\beta)][1+\lambda(k-1)] a_{k} b_{k} z^{k}-\alpha e^{i \theta} .\right. \\
& \cdot \sum_{k=1}^{\infty}(k+1)[1+\lambda(k-1)] a_{k} b_{k} z^{k}|-| \beta(1-2 \lambda) \frac{1}{z}-\sum_{k=1}^{\infty}[k+(1+\beta)] . \\
& .[1+\lambda(k-1)] a_{k} b_{k} z^{k}-\alpha e^{i \theta} \sum_{k=1}^{\infty}(k+1)[1+\lambda(k-1)] a_{k} b_{k} z^{k} \mid \\
\geq & (2-\beta)(1-2 \lambda) \frac{1}{|z|}-\sum_{k=1}^{\infty}[k-(1-\beta)][1+\lambda(k-1)] a_{k} b_{k}|z|^{k}-\alpha . \\
& \cdot \sum_{k=1}^{\infty}(k+1)[1+\lambda(k-1)] a_{k} b_{k}|z|^{k}-\beta(1-2 \lambda) \frac{1}{|z|}-\sum_{k=1}^{\infty}[k+(1+\beta)] . \\
& \cdot[1+\lambda(k-1)] a_{k} b_{k}|z|^{k}-\alpha \sum_{k=1}^{\infty}(k+1)[1+\lambda(k-1)] a_{k} b_{k}|z|^{k} \\
= & 2(1-\beta)(1-2 \lambda) \frac{1}{|z|}-2 \sum_{k=1}^{\infty}(k+\beta)[1+\lambda(k-1)] a_{k} b_{k}|z|^{k}-2 \alpha . \\
& \cdot \sum_{k=1}^{\infty}(k+1)[1+\lambda(k-1)] a_{k} b_{k}|z|^{k} \geq 0 .
\end{aligned}
$$

On simplification we easily arrive at the inequality (2.1).
Conversely, suppose that $f$ is in the class $M(f, g ; \alpha, \beta, \lambda)$. Then

$$
-\operatorname{Re}\left\{\frac{\left(1+\alpha e^{i \theta}\right)\left[z(f * g)^{\prime}(z)+\lambda z^{2}(f * g)^{\prime \prime}(z)\right]+\alpha e^{i \theta}\left[(1-\lambda)(f * g)(z)+\lambda z(f * g)^{\prime}(z)\right]}{(1-\lambda)(f * g)(z)+\lambda z(f * g)^{\prime}(z)}\right\} \geq \beta
$$

Hence

$$
\operatorname{Re}\left\{\frac{(1-2 \lambda)(1-\beta) \frac{1}{z}-\sum_{k=1}^{\infty}\left\{k+\alpha e^{i \theta}(k+1)+\beta\right\}[1+\lambda(k-1)] a_{k} b_{k} z^{k}}{(1-2 \lambda) \frac{1}{z}+\sum_{k=1}^{\infty}[1+\lambda(k-1)] a_{k} b_{k} z^{k}}\right\} \geq 0
$$

If we now choose $z$ to be real and $z \rightarrow 1^{-}$, we write

$$
\sum_{k=1}^{\infty}[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)] a_{k} b_{k} \leq(1-\beta)(1-2 \lambda)
$$

which completes the proof of Theorem 2.1.
Corollary 2.2. Let the function $f$ defined by (1.1) be in the class $M(f, g ; \alpha, \beta, \lambda)$. Then

$$
\begin{equation*}
a_{k} \leq \frac{(1-\beta)(1-2 \lambda)}{[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)] b_{k}} \tag{2.2}
\end{equation*}
$$

The result is sharp for the function

$$
\begin{equation*}
f(z)=\frac{1}{z}+\frac{(1-\beta)(1-2 \lambda)}{[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)] b_{k}} z^{k} . \tag{2.3}
\end{equation*}
$$

## 3. Distortion theorems

Theorem 3.1. Let the function $f$ defined by (1.1) be in the class $M(f, g ; \alpha, \beta, \lambda)$, then for $0<|z|=r<1$, we have

$$
\begin{equation*}
\frac{1}{|z|}-\frac{(1-\beta)(1-2 \lambda)}{(2 \alpha+\beta+1) b_{1}}|z| \leq|f(z)| \leq \frac{1}{|z|}+\frac{(1-\beta)(1-2 \lambda)}{(2 \alpha+\beta+1) b_{1}}|z| \tag{3.1}
\end{equation*}
$$

The result is sharp for the function $f$ given by

$$
\begin{equation*}
f(z)=\frac{1}{z}+\frac{(1-\beta)(1-2 \lambda)}{(2 \alpha+\beta+1) b_{1}} z \tag{3.2}
\end{equation*}
$$

Proof. It is easy to see from Theorem 2.1 that

$$
\begin{aligned}
(2 \alpha+\beta+1) b_{1} \sum_{k=1}^{\infty} a_{k} \leq & \sum_{k=1}^{\infty}[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)] a_{k} b_{k} \\
& \leq(1-\beta)(1-2 \lambda)
\end{aligned}
$$

Then

$$
\begin{equation*}
\sum_{k=1}^{\infty} a_{k} \leq \frac{(1-\beta)(1-2 \lambda)}{(2 \alpha+\beta+1) b_{1}} \tag{3.3}
\end{equation*}
$$

Making use of (3.3), we have

$$
\begin{align*}
|f(z)| & \geq \frac{1}{|z|}-|z| \sum_{k=1}^{\infty} a_{k} \\
& \geq \frac{1}{|z|}-\frac{(1-\beta)(1-2 \lambda)}{(2 \alpha+\beta+1) b_{1}}|z| \tag{3.4}
\end{align*}
$$

and

$$
\begin{align*}
|f(z)| & \leq \frac{1}{|z|}+|z| \sum_{k=1}^{\infty} a_{k} \\
& \leq \frac{1}{|z|}+\frac{(1-\beta)(1-2 \lambda)}{(2 \alpha+\beta+1) b_{1}}|z| \tag{3.5}
\end{align*}
$$

which proves the assertion (3.1), and this completes the proof of Theorem 3.1.
Theorem 3.2. Let the function $f$ defined by (1.1) be in the class $M(f, g ; \alpha, \beta, \lambda)$, then for $0<|z|=r<1$, we have

$$
\begin{equation*}
\frac{1}{|z|^{2}}-\frac{(1-\beta)(1-2 \lambda)}{(2 \alpha+\beta+1) b_{1}} \leq\left|f^{\prime}(z)\right| \leq \frac{1}{|z|^{2}}+\frac{(1-\beta)(1-2 \lambda)}{(2 \alpha+\beta+1) b_{1}} \tag{3.6}
\end{equation*}
$$

The result is sharp for the function $f$ given by (3.2).
Proof. From Theorem 2.1 and (3.3), we have

$$
\begin{equation*}
\sum_{k=1}^{\infty} k a_{k} \leq \frac{(1-\beta)(1-2 \lambda)}{(2 \alpha+\beta+1) b_{1}} \tag{3.7}
\end{equation*}
$$

Since the remaining part of the proof is similar to the proof of Theorem 3.1, we omit the details.

## 4. Closure theorems

Let the functions $f_{j}$ be defined, for $j=1,2, \ldots, m$, by

$$
\begin{equation*}
f_{j}(z)=\frac{1}{z}+\sum_{k=1}^{\infty} a_{k, j} z^{k}\left(a_{k, j} \geq 0\right) \tag{4.1}
\end{equation*}
$$

Theorem 4.1. Let the functions $f_{j}(j=1,2, \ldots, m)$ defined by (4.1) be in the class $M(f, g ; \alpha, \beta, \lambda)$. Then the function $h$ defined by

$$
\begin{equation*}
h(z)=\frac{1}{z}+\sum_{k=1}^{\infty}\left(\frac{1}{m} \sum_{j=1}^{m} a_{k, j}\right) z^{k} \tag{4.2}
\end{equation*}
$$

also belongs to the class $M(f, g ; \alpha, \beta, \lambda)$.
Proof. Since $f_{j}(j=1,2, \ldots, m)$ are in the class $M(f, g ; \alpha, \beta, \lambda)$, it follows from Theorem 2.1, that

$$
\sum_{k=1}^{\infty}[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)] a_{k, j} b_{k} \leq(1-\beta)(1-2 \lambda)
$$

for every $j=1,2, \ldots, m$. Hence

$$
\begin{aligned}
& \sum_{k=1}^{\infty}[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)] b_{k}\left(\frac{1}{m} \sum_{j=1}^{m} a_{k, j}\right) \\
& =\frac{1}{m} \sum_{j=1}^{m}\left(\sum_{k=1}^{\infty}[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)] a_{k, j} b_{k}\right) \\
& \leq(1-\beta)(1-2 \lambda)
\end{aligned}
$$

From Theorem 2.1, it follows that $h \in M(f, g ; \alpha, \beta, \lambda)$. This completes the proof of Theorem 4.1.
Theorem 4.2. The class $M(f, g ; \alpha, \beta, \lambda)$ is closed under convex linear combinations. Proof. Let the functions $f_{j}(j=1,2)$ defined by (4.1) be in the class $M(f, g ; \alpha, \beta, \lambda)$. Then it is sufficient to show that the function

$$
\begin{equation*}
h(z)=\eta f_{1}(z)+(1-\eta) f_{2}(z)(0 \leq \eta \leq 1) \tag{4.3}
\end{equation*}
$$

is in the class $M(f, g ; \alpha, \beta, \lambda)$. Since for $0 \leq \eta \leq 1$,

$$
\begin{equation*}
h(z)=\frac{1}{z}+\sum_{k=1}^{\infty}\left[\eta a_{k, 1}+(1-\eta) a_{k, 2}\right] z^{k} \tag{4.4}
\end{equation*}
$$

with the aid of Theorem 2.1, we have

$$
\begin{aligned}
\sum_{k=1}^{\infty}[1+ & \lambda(k-1)][k(1+\alpha)+(\alpha+\beta)] b_{k}\left[\eta a_{k, 1}+(1-\eta) a_{k, 2}\right] \\
& \leq \eta(1-\beta)(1-2 \lambda)+(1-\eta)(1-\beta)(1-2 \lambda) \\
& =(1-\beta)(1-2 \lambda)
\end{aligned}
$$

which implies that $h \in M(f, g ; \alpha, \beta, \lambda)$.
Theorem 4.3. Let $\sigma \geq 0$, then

$$
M(f, g ; \alpha, \beta, \lambda) \subseteq N(f, g ; \alpha, \sigma)
$$

where

$$
\begin{equation*}
\sigma=1-\frac{2(1-\beta)(1-2 \lambda)(1+\alpha)}{(2 \alpha+\beta+1)+(1-\beta)(1-2 \lambda)} \tag{4.5}
\end{equation*}
$$

Proof. If $f \in M(f, g ; \alpha, \beta, \lambda)$, then

$$
\begin{equation*}
\sum_{k=1}^{\infty} \frac{[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)] b_{k}}{(1-\beta)(1-2 \lambda)} a_{k} \leq 1 \tag{4.6}
\end{equation*}
$$

We need to find the value of $\sigma$ such that

$$
\begin{equation*}
\sum_{k=1}^{\infty} \frac{[k(1+\alpha)+(\alpha+\sigma)] b_{k}}{(1-\sigma)} a_{k} \leq 1 \tag{4.7}
\end{equation*}
$$

Thus it is sufficient to show that

$$
\frac{[k(1+\alpha)+(\alpha+\sigma)]}{(1-\sigma)} \leq \frac{[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)]}{(1-\beta)(1-2 \lambda)}
$$

Then

$$
\sigma \leq 1-\frac{(k+1)(1-\beta)(1-2 \lambda)(1+\alpha)}{[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)]+(1-\beta)(1-2 \lambda)} .
$$

Since

$$
D(k)=1-\frac{(k+1)(1-\beta)(1-2 \lambda)(1+\alpha)}{[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)]+(1-\beta)(1-2 \lambda)},
$$

is an increasing function of $k(k \geq 1)$, we obtain

$$
\sigma \leq D(1)=1-\frac{2(1-\beta)(1-2 \lambda)(1+\alpha)}{(2 \alpha+\beta+1)+(1-\beta)(1-2 \lambda)}
$$

Theorem 4.4. Let $f_{0}(z)=\frac{1}{z}$ and

$$
\begin{equation*}
f_{k}(z)=\frac{1}{z}+\frac{(1-\beta)(1-2 \lambda)}{[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)] b_{k}} z^{k}(k \geq 1) \tag{4.8}
\end{equation*}
$$

Then $f$ is in the class $M(f, g ; \alpha, \beta, \lambda)$ if and only if can be expressed in the form

$$
\begin{equation*}
f(z)=\sum_{k=0}^{\infty} \mu_{k} f_{k}(z) \tag{4.9}
\end{equation*}
$$

where $\mu_{k} \geq 0$ and $\sum_{k=0}^{\infty} \mu_{k}=1$.

Proof. Assume that

$$
\begin{align*}
f(z) & =\sum_{k=0}^{\infty} \mu_{k} f_{k}(z) \\
& =\frac{1}{z}+\sum_{k=1}^{\infty} \frac{(1-\beta)(1-2 \lambda)}{[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)] b_{k}} \mu_{k} z^{k} . \tag{4.10}
\end{align*}
$$

Then it follows that

$$
\begin{gathered}
\sum_{k=1}^{\infty} \frac{[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)] b_{k}}{(1-\beta)(1-2 \lambda)} \cdot \frac{(1-\beta)(1-2 \lambda)}{[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)] b_{k}} \mu_{k} \\
=\sum_{k=1}^{\infty} \mu_{k}=1-\mu_{0} \leq 1
\end{gathered}
$$

which implies that $f \in M(f, g ; \alpha, \beta, \lambda)$.
Conversely, assume that the function $f$ defined by (1.1) be in the class $M(f, g$; $\alpha, \beta, \lambda)$. Then

$$
a_{k} \leq \frac{(1-\beta)(1-2 \lambda)}{[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)] b_{k}}
$$

Setting

$$
\mu_{k}=\frac{[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)] b_{k}}{(1-\beta)(1-2 \lambda)} a_{k},
$$

where

$$
\mu_{0}=1-\sum_{k=1}^{\infty} \mu_{k}
$$

we can see that $f$ can be expressed in the form (4.9).
Corollary 4.5. The extreme points of the class $M(f, g ; \alpha, \beta, \lambda)$ are the functions $f_{0}(z)=$ $\frac{1}{z}$ and

$$
\begin{equation*}
f_{k}(z)=\frac{1}{z}+\frac{(1-\beta)(1-2 \lambda)}{[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)] b_{k}} z^{k}(k \geq 1) \tag{4.11}
\end{equation*}
$$

## 5. Modified Hadamard products

Let the functions $f_{j}(j=1,2)$ defined by (4.1). The modified Hadamard product of $f_{1}$ and $f_{2}$ is defined by

$$
\begin{equation*}
\left(f_{1} * f_{2}\right)(z)=\frac{1}{z}+\sum_{k=1}^{\infty} a_{k, 1} a_{k, 2} z^{k}=\left(f_{2} * f_{1}\right)(z) \tag{5.1}
\end{equation*}
$$

Theorem 5.1. Let the functions $f_{j}(j=1,2)$ defined by (4.1) be in the class $M(f, g ; \alpha, \beta, \lambda)$. Then $f_{1} * f_{2} \in M(f, g ; \alpha, \varphi, \lambda)$, where

$$
\begin{equation*}
\varphi=1-\frac{2(1-\beta)^{2}(1-2 \lambda)(1+\alpha)}{(2 \alpha+\beta+1)^{2} b_{1}+(1-\beta)^{2}(1-2 \lambda)} . \tag{5.2}
\end{equation*}
$$

The result is sharp for the functions $f_{j}(j=1,2)$ given by

$$
\begin{equation*}
f_{j}(z)=\frac{1}{z}+\frac{(1-\beta)(1-2 \lambda)}{(2 \alpha+\beta+1) b_{1}} z(j=1,2) \tag{5.3}
\end{equation*}
$$

Proof. Employing the technique used earlier by Schild and Silverman [12], we need to find the largest real parameter $\varphi$ such that

$$
\begin{equation*}
\sum_{k=1}^{\infty} \frac{[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\varphi)] b_{k}}{(1-\varphi)(1-2 \lambda)} a_{k, 1} a_{k, 2} \leq 1 \tag{5.4}
\end{equation*}
$$

Since $f_{j} \in M(f, g ; \alpha, \beta, \lambda)(j=1,2)$, we readily see that

$$
\begin{equation*}
\sum_{k=1}^{\infty} \frac{[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)] b_{k}}{(1-\beta)(1-2 \lambda)} a_{k, 1} \leq 1 \tag{5.5}
\end{equation*}
$$

and

$$
\begin{equation*}
\sum_{k=1}^{\infty} \frac{[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)] b_{k}}{(1-\beta)(1-2 \lambda)} a_{k, 2} \leq 1 \tag{5.6}
\end{equation*}
$$

By the Cauchy-Schwarz inequality we have

$$
\begin{equation*}
\sum_{k=1}^{\infty} \frac{[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)] b_{k}}{(1-\beta)(1-2 \lambda)} \sqrt{a_{k, 1} a_{k, 2}} \leq 1 \tag{5.7}
\end{equation*}
$$

Thus it is sufficient to show that

$$
\begin{align*}
& \frac{[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\varphi)] b_{k}}{(1-\varphi)(1-2 \lambda)} a_{k, 1} a_{k, 2} \leq \\
& \frac{[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)] b_{k}}{(1-\beta)(1-2 \lambda)} \sqrt{a_{k, 1} a_{k, 2}}, \tag{5.8}
\end{align*}
$$

or equivalently, that

$$
\begin{equation*}
\sqrt{a_{k, 1} a_{k, 2}} \leq \frac{[k(1+\alpha)+(\alpha+\beta)](1-\varphi)}{[k(1+\alpha)+(\alpha+\varphi)](1-\beta)} \tag{5.9}
\end{equation*}
$$

Hence, in light of the inequality (5.7), it is sufficient to prove that

$$
\begin{equation*}
\frac{(1-\beta)(1-2 \lambda)}{[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)] b_{k}} \leq \frac{[k(1+\alpha)+(\alpha+\beta)](1-\varphi)}{[k(1+\alpha)+(\alpha+\varphi)](1-\beta)} . \tag{5.10}
\end{equation*}
$$

It follows from (5.10) that

$$
\begin{equation*}
\varphi \leq 1-\frac{(1-\beta)^{2}(1-2 \lambda)(1+\alpha)(k+1)}{[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)]^{2} b_{k}+(1-\beta)^{2}(1-2 \lambda)} \tag{5.11}
\end{equation*}
$$

Now defining the function $E(k)$ by

$$
\begin{equation*}
E(k)=1-\frac{(1-\beta)^{2}(1-2 \lambda)(1+\alpha)(k+1)}{[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)]^{2} b_{k}+(1-\beta)^{2}(1-2 \lambda)} \tag{5.12}
\end{equation*}
$$

We see that $E(k)$ is an increasing function of $k(k \geq 1)$. Therefore, we conclude that

$$
\begin{equation*}
\varphi \leq E(1)=1-\frac{2(1-\beta)^{2}(1-2 \lambda)(1+\alpha)}{(2 \alpha+\beta+1)^{2} b_{1}+(1-\beta)^{2}(1-2 \lambda)} \tag{5.13}
\end{equation*}
$$

which evidently completes the proof of Theorem 5.1.
Using arguments similar to those in the proof of Theorem 5.1, we obtain the following theorem:
Theorem 5.2. Let the function $f_{1}$ defined by (4.1) be in the class $M(f, g ; \alpha, \beta, \lambda)$. Suppose also that the function $f_{2}$ defined by (4.1) be in the class $M(f, g ; \alpha, \rho, \lambda)$. Then $f_{1} * f_{2} \in M(f, g ; \alpha, \zeta, \lambda)$ where

$$
\begin{equation*}
\zeta=1-\frac{2(1-\beta)(1-\rho)(1-2 \lambda)(1+\alpha)}{(2 \alpha+\beta+1)(2 \alpha+\rho+1) b_{1}+(1-\beta)(1-\rho)(1-2 \lambda)} \tag{5.14}
\end{equation*}
$$

The result is sharp for the functions $f_{j}(j=1,2)$ given by

$$
\begin{equation*}
f_{1}(z)=\frac{1}{z}+\frac{(1-\beta)(1-2 \lambda)}{(2 \alpha+\beta+1) b_{1}} z \tag{5.15}
\end{equation*}
$$

and

$$
\begin{equation*}
f_{2}(z)=\frac{1}{z}+\frac{(1-\rho)(1-2 \lambda)}{(2 \alpha+\rho+1) b_{1}} z \tag{5.16}
\end{equation*}
$$

Theorem 5.3. Let the functions $f_{j}(j=1,2)$ defined by (4.1) be in the class $M(f, g ; \alpha, \beta, \lambda)$. Then the function

$$
\begin{equation*}
h(z)=\frac{1}{z}+\sum_{k=1}^{\infty}\left(a_{k, 1}^{2}+a_{k, 2}^{2}\right) z^{k} \tag{5.17}
\end{equation*}
$$

belong to the class $M(f, g ; \alpha, \varepsilon, \lambda)$, where

$$
\begin{equation*}
\varepsilon=1-\frac{4(1-\beta)^{2}(1-2 \lambda)(1+\alpha)}{(2 \alpha+\beta+1)^{2} b_{1}+2(1-\beta)^{2}(1-2 \lambda)} \tag{5.18}
\end{equation*}
$$

The result is sharp for the functions $f_{j}(j=1,2)$ defined by (5.3).
Proof. By using Theorem 2.1, we obtain

$$
\begin{align*}
& \sum_{k=1}^{\infty}\left\{\frac{[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)] b_{k}}{(1-\beta)(1-2 \lambda)}\right\}^{2} a_{k, 1}^{2} \\
\leq & \left\{\sum_{k=1}^{\infty} \frac{[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)] b_{k}}{(1-\beta)(1-2 \lambda)} a_{k, 1}\right\}^{2} \leq 1, \tag{5.19}
\end{align*}
$$

and

$$
\begin{align*}
& \sum_{k=1}^{\infty}\left\{\frac{[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)] b_{k}}{(1-\beta)(1-2 \lambda)}\right\}^{2} a_{k, 2}^{2} \\
\leq & \left\{\sum_{k=1}^{\infty} \frac{[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)] b_{k}}{(1-\beta)(1-2 \lambda)} a_{k, 2}\right\}^{2} \leq 1 . \tag{5.20}
\end{align*}
$$

It follows from (5.19) and (5.20) that

$$
\begin{equation*}
\sum_{k=1}^{\infty} \frac{1}{2}\left\{\frac{[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)] b_{k}}{(1-\beta)(1-2 \lambda)}\right\}^{2}\left(a_{k, 1}^{2}+a_{k, 2}^{2}\right) \leq 1 \tag{5.21}
\end{equation*}
$$

Therefore, we need to find the largest $\varepsilon$ such that

$$
\begin{gather*}
\frac{[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\varepsilon)] b_{k}}{(1-\varepsilon)(1-2 \lambda)} \\
\leq \frac{1}{2}\left\{\frac{[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)] b_{k}}{(1-\beta)(1-2 \lambda)}\right\}^{2} \tag{5.22}
\end{gather*}
$$

that is

$$
\begin{equation*}
\varepsilon \leq 1-\frac{2(1-\beta)^{2}(1-2 \lambda)(1+\alpha)(k+1)}{[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)]^{2} b_{k}+2(1-\beta)^{2}(1-2 \lambda)} \tag{5.23}
\end{equation*}
$$

Since

$$
\begin{equation*}
G(k)=1-\frac{2(1-\beta)^{2}(1-2 \lambda)(1+\alpha)(k+1)}{[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)]^{2} b_{k}+2(1-\beta)^{2}(1-2 \lambda)}, \tag{5.24}
\end{equation*}
$$

is an increasing function of $k(k \geq 1)$, we obtain

$$
\begin{equation*}
\varepsilon \leq G(1)=1-\frac{4(1-\beta)^{2}(1-2 \lambda)(1+\alpha)}{(2 \alpha+\beta+1)^{2} b_{1}+2(1-\beta)^{2}(1-2 \lambda)} \tag{5.25}
\end{equation*}
$$

and hence the proof of Theorem 5.3 is completed.

## 6. Integral operators

Theorem 6.1. Let the functions $f$ given by (1.1) be in the class $M(f, g ; \alpha, \beta, \lambda)$. Then the integral operator

$$
\begin{equation*}
F(z)=c \int_{0}^{1} u^{c} f(u z) d u(0<u \leq 1 ; c>0) \tag{6.1}
\end{equation*}
$$

is in the class $M(f, g ; \alpha, \xi, \lambda)$, where

$$
\begin{equation*}
\xi=1-\frac{2 c(1-\beta)(1+\alpha)}{(c+2)(2 \alpha+\beta+1)+c(1-\beta)} . \tag{6.2}
\end{equation*}
$$

The result is sharp for the function $f$ given by (3.2).
Proof. Let $f \in M(f, g ; \alpha, \beta, \lambda)$, then

$$
\begin{align*}
F(z) & =c \int_{0}^{1} u^{c} f(u z) d u \\
& =\frac{1}{z}+\sum_{k=1}^{\infty} \frac{c}{k+c+1} a_{k} z^{k} \tag{6.3}
\end{align*}
$$

Thus it is sufficient to show that

$$
\begin{equation*}
\sum_{k=1}^{\infty} \frac{c[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\xi)] b_{k}}{(k+c+1)(1-\xi)(1-2 \lambda)} a_{k} \leq 1 \tag{6.4}
\end{equation*}
$$

Since $f \in M(f, g ; \alpha, \beta, \lambda)$, then

$$
\begin{equation*}
\sum_{k=1}^{\infty} \frac{[1+\lambda(k-1)][k(1+\alpha)+(\alpha+\beta)] b_{k}}{(1-\beta)(1-2 \lambda)} a_{k} \leq 1 \tag{6.5}
\end{equation*}
$$

From (6.4) and (6.5), we have

$$
\frac{c[k(1+\alpha)+(\alpha+\xi)]}{(k+c+1)(1-\xi)} \leq \frac{[k(1+\alpha)+(\alpha+\beta)]}{(1-\beta)}
$$

Then

$$
\xi \leq 1-\frac{c(1-\beta)(k+1)(1+\alpha)}{(c+k+1)[k(1+\alpha)+(\alpha+\beta)]+c(1-\beta)}
$$

Since

$$
Y(k)=1-\frac{c(1-\beta)(k+1)(1+\alpha)}{(c+k+1)[k(1+\alpha)+(\alpha+\beta)]+c(1-\beta)},
$$

is an increasing function of $k(k \geq 1)$, we obtain

$$
\xi \leq Y(1)=1-\frac{2 c(1-\beta)(1+\alpha)}{(c+2)(2 \alpha+\beta+1)+c(1-\beta)}
$$

and hence the proof of Theorem 6.1 is completed.
Acknowledgment. The authors thank the referees for their valuable suggestions which led to the improvement of this paper.

## References

[1] Aouf, M.K., A certain subclass of meromorphically starlike functions with positive coefficients, Rend. Mat., 9(1989), 255-235.
[2] Aouf, M.K., On a certain class of meromorphically univalent functions with positive coefficients, Rend. Mat., 11(1991), 209-219.
[3] Bulboacă, T., Aouf, M.K., El-Ashwah, R.M., Convolution properties for subclasses of meromorphic univalent functions of complex order, Filomat, 26(2012), no. 1, 153-163.
[4] Cho, N.E., On certain class of meromorphic functions with positive coefficients, J. Inst. Math. Comput. Sci., 3(1990), no. 2, 119-125.
[5] Cho, N.E., Lee, S.H., Owa, S., A class of meromorphic univalent functions with positive coefficients, Kobe J. Math., 4(1987), 43-50.
[6] El-Ashwah, R.M., Argument properties for p-valent meromorphic functions defined by differintegral operator, (Submitted).
[7] El-Ashwah, R.M., Properties of certain class of p-valent meromorphic functions associated with new integral operator, Acta Univ. Apulensis Math. Inform., 29(2012), 255-264.
[8] El-Ashwah, R.M., Aouf, M.K., Bulboacă, T., Differential subordinations for classes of meromorphic p-valent Functions defined by multiplier transformations, Bull. Aust. Math. Soc., 83(2011), 353-368.
[9] Miller, J.E., Convex meromorphic mapping and related functions, Proc. Amer. Math. Soc., 25(1970), 220-228.
[10] Mogra, M.L., Reddy, T., Juneja, O.P., Meromorphic univalent functions with positive coefficients, Bull. Aust. Math. Soc., 32(1985), 161-176.
[11] Pommerenke, Ch., On meromorphic starlike functions, Pacific J. Math., 13(1963), 221235.
[12] Schild, A., Silverman, H., Convolutions of univalent functions with negative coefficients, Ann. Univ. Mariae-Curie Sklodowska, Sect. A, 29(1975), 109-116.
M.K. Aouf

Department of Mathematics, Faculty of Science, Mansoura University
Mansoura 35516, Egypt
e-mail: mkaouf127@yahoo.com
R.M. EL-Ashwah

Department of Mathematics, Faculty of Science, Damietta University
New Damietta 34517, Egypt
e-mail: r_elashwah@yahoo.com
H.M. Zayed

Department of Mathematics, Faculty of Science, Menofia University
Shebin Elkom 32511, Egypt
e-mail: hanaazayed42@yahoo.com

